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1	Introduction
[bookmark: _Toc474247438]Multiple proposals for load information enhancements or corrections were made during previous RAN3 meetings. In this paper, we describe the problem of the use of BWP to calculate the load of a Cell.
2	Discussion
2.1	Load information per BWP
[bookmark: _GoBack]This problem was originally presented in and R3-205952 (RAN3#110).
For PRB usage report and for CAC report, it has been agreed to have a report per Beam (or per SSB). We describe below some points to consider.
In NR, it is possible to use several BWPs (Bandwidth Parts) within a Cell. Bandwidth Adaptation is described in TS 38.300, section 6.10. The figure below shows an example of BWP configuration in a cell, for Bandwidth Adaptation.


Figure 1: Example of BWPs in a Cell
The figure 1 above illustrates the case of different BWPs configured in a cell. BWP0 is the initial BWP. BWP1 is used for heavier traffic usage. The BWPs belong to the same cell and are located within the total cell bandwidth.
Note that the BWPs are overlapping which is considered as the most probable use of BWP in NR. As a consequence, both BWP can use the CD-SSB as first used BWP during Handover. However, in current specifications, it is only possible to report the load of the whole cell. In our example the spectrum of the cell is the spectrum of BWP1.
Resource reporting per SSB, as already available, or per slice, as proposed for Rel.17, does yet solve the problem – the only option is to enable reporting per BWP, too. This may be particularly relevant if BWPs are linked with specific services.
Let’s consider a scenario for mobility from Cell A to Cell B. Cell B has a BWP configuration described in Figure 1.
The Initial BWP (BWP 0) may be fully loaded (100 % loaded) but BWP 1 not much loaded (29%).
The figure below shows the load per 20MHz:


Figure 2: Example of load distribution per 20MHz
In the current Load reporting configuration only the load of the whole Cell reporting. Which in our case would be around 29%. But because the BWP0 is full, UE should not be sent to this BWP.
One could argue that the target cell (Target gNB CU to be precise) is in charge of the BWP allocation in target cell during Handover. But some UE would not be capable of being allocated any other BWP than BWP0 in the target cell because of their capability. A UE may not be able to be served by a BWP larger than 20MHz.
In this scenario, it makes sense to know the load of the initial BPW in the cell for the gNB-CU (from the gNB-DU) and for neighbouring gNBs 
Proposal: It should be possible to indicate the load of the initial BWP separately from the overall load
This information could be delivered as PRB usage or Composite Available Capacity 
3	Conclusions
In this contribution, we made the following proposal:
Proposal: It should be possible to indicate the load of the initial BWP separately from the overall load
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